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LABOUR WELFARE AND INDUSTRIAL RELATIONS/LABOUR AND
SOCIAL WELFARE/HUMAN RESOURCE MANAGEMENT

PAPER —-1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Match the following managerial activities with the managerial functions :

(a) Forecasting @) Controlling
(b) Communication (i) Planning
(c) Selection of Managers (i) Leading
(d) Established performance standards  (iv) Staffing
Code:

@ () (o (d
(A) () (D) (@) (D)
(B) (@) @) (v) (i)
©) () Gv) @ (i)
(D) @) @) (v) (i)

2. Match the following managerial activities with the managerial functions :

(Books) (Authors)
(a) Shop Management (i)  Elton Mayo
(b) Management and worker (i) Douglas Mc Gregor
(c) Social Problems of Industrial Civilization (iii) F.W. Taylor
(d) Human side of Enterprise (iv) F.J. Roethlisberger
Code
@@ () (o) (d)
(A) @) @@ (Gv) (i)
(B) @) (@) @ )
© @) @Gv) @ @)
(D) @) (v) (D) ()
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3.  Control function cannot be performed without :

(A)
(©

Planning (B) Organising
Staffing (D) All the above

4.  Planning does not include :

(A)
(B)
(C
(

)
D)

Deciding in advance what to do
Identifying Priorities
Implementation

Focus on target groups

5.  Arrange the following steps of organising process in a proper sequence :

i)
ii
i)

(
(
(
(iv)
(
(
(
(

~"

jary

<

>

)
B)
C

)

)
)

Forming supportive objectives

Delegating to each group head the authority necessary to perform activities
Establishing enterprise objectives

Identifying and classifying activities

@) @) @) (iv)

() () (v) (i)
O @) Gv) (@)
O @) G (@)

6.  Restructuring of job content and division of responsibility between jobs to increase the
amount of responsibility is called :

(A)
(©

Job Enlargement (B) Job Enrichment
Job Analysis (D) All of the above

7.  Match the following :

(a)
(b)
(©)
(d)
Code:

J—5506

Staff Executives (i)  Advisory Function
Directing (i) Manpower Development
Line Executive (iii) Guiding Function
Staffing (iv) Managerial Authority
(@ (b) (o) (d)

0 Gv) i) ()

0 Gi) @) ()

() Gi) @) 6

) @) Gi) (v)
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10.

11.

12.

‘Hot-Stove’ rule was given by :
(A) Douglas Mc Gregor (B) Mc Clleland
(C) Dale S. Beach (D) Dale Yoder

Which of the following is the most analytical method of evaluation ?
(A) Ranking Method (B) Grading Method
(C) Factor-Comparision Method (D) Point Method

Who said “as discipline is a control of management on employee, grievance is a control
of employee on management’

(A) Michael J. Jucius (B) Richard P. Calhoon
(C) Windell French (D) Dale Yoder

HRD Matrix was conceptualized by :
(A) Leonard Nadler (B) Leon C. Megginson

(C) T.V.Rao (D) Udai Pareekh

Match the following :

(Training Programmes) (Skills Imparted)
(a) Inbasket Exercize (i) Problem solving
(b) Role Playing (ii) Skills required for promotion
(c) Sensiticity Training (iii) Time Management
(d) Understudy (iv) Group Skills
Code

(@ (b) (o) (d)
(A) @) @ (@v) (i)
(B) @) @) @ G
(© @) @) (@) @
(D) Gv) (@) @) ()
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(d) Tl (iv) 99 fered
g
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13. Assertion : Management of performance is a better substitute to the performance
appraisal.

Reason : Appraisal of performance is affected by many errors as in human
processes biases are bound to occur.

(A) Both asseration and reason are wrong.

(B) Assertion is wrong but reason is right.

(C) Assertion is right and it will control reason
(D) None of the above

14. Arrange the following processes of quality circle in the order in which they occur.
(i) Pareto Analysis
(ii) Fish Bone Analysis
(iii) Pie Chart

(iv) Brain Storming Exercise

Code:

(A @ (@v) @) (i)
(B) (v) (@) @ (i)
(© @) @) o (v) (i)
(D) Gv) @@ @) (i)

15.  Which of the following is not on the job training programme :
(A) Vestibule Training (B) Role Playing
(C) Simulation (D) All the above

16. Match the following authors with the books they have authored.

(Authors) (Books)
(a) Elton Mayo (i)  The Practice of Management
(b) Douglas Mc Gregor (i) The human problems of industrial civilisation
() Rensis Likert (iii) The human side of enterprise
(d) Peter F. Drucker (iv) The human organization
Code:

(@ (b) (o) (d)
(A) @) () () ()
(B) G) (D) (@v) @)
(© G @) (@v) @)
(D) Gv) () (D) ()
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17.

18.

19.

20.

21.

The ‘Cognitive Dissonance’ theory of motivation was advanced by :
(A) Parter and Lawler (B) Kelly and Rolter

(C) Lewin and Tolman (D) Festinger and Homans

Who is the author of the book “The Fifth Discipline: The art and science of the learning
organisation”?

(A) C. K. Prahlad (B) Sumantra Ghosal
(C) Peter Segne (D) Gary Hamel

Which of the following perspectives of Organizational Development highlight the process of
learning and change through imitation professionalization and compliance ?

(A) Contingency (B) Population Ecology

(C) Institutional (D) Resource Dependence

Assertion (A) : Job context factors, which are extrinsic in nature contribute to reducing
job dissatisfaction rather then enhancing satisfaction.

Reason (R) : Human expectations are unlimited and continously occur.

(A) Assertion is wrong, Reason is Right

(B) Assertion is right, Reason is wrong
(C) Both Assertion and Reason are wrong
(D) Both Assertion and Reason are right

Match the following :

(Method) (Product)
(a) Conciliation (i) Report
(b)  Collective Bargaining (i) Award
(c) Investigation (iii) Settlement
(d) Adjudication (iv) Agreement
Code

(@ (b) (o) (d)
(A) @) @ 3 @)
(B) @) @Gv) @ ()
© @) @@ 3§) @)
(D) Gv) (@) @ ()
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17.

18.

19.

20.

21.
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AR (A) :  Frd He R S T W B 9l § o I 9 U TG P FH FA
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(C) fyehe TR SROT T TTerd € |

(D)  Ifreper 3R RO g1 W |

Tr=fafad 1 faam wifsg

fafar IS
(a) HHIfcaeE ()  afdered
(b) EHfEH TS (i) 3T
(c) Sirausara (iii) YeaHe
(d) sifufo (iv) TtHe
&

@@ @) (o ()
(A) @) (@ @G) (i)
(B) (i) (v) @ (i)
Q) @@ @ @D (i)
(D) (@v) (@D @ ()
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22.  Which of the following has not been provided under the provisions of the code of
discipline ?

A) Trade union recognition

B

~—

Unfair Labour practices

(
(
(C) Greivance handling
(

o

) Worker’s participation in management

23.  Which one of the following is a tripartite body ?
A) Works Committee

B

~—"

Canteen Management Committee

(
(
(C) Wage Board
(

)

) Joint Management Council

24.  Which of the following is not included under the concept of industrial relations ?
A) Employer - Union Relations
B

~—

(
( Employer - State Relations
(C) Employer - Customer Relations
(

D) Employer - Union State Relations

25.  Which of the following codes aims to check the problem of trade union rivalries in
India ?

A) Code of discipline in industry

B) Inter-union code of conduct

~—

C) Code of efficiency and welfare

(
(
(
(D) None of the above

26. Who among the following defined trade unions as a continuous association of wage

earners :
(A) S. D. Punekar (B) Dankert
(C) Webbs (D) V.V.Giri

J—5506 12



22.

23.

24.

25.

26.

Frefafeaa & 9 S faw srgemee e & s Simfad T2 § 2
(A) TSI | i A=A

(B) ST o7 =

(C) Tererrrd foures

(D) Y& H HSIQY okl FRWIfTan

feferiad & & o8 s Frecia Geen el ST Fhar &2

C) Hifeteh - UTesh HaYl
D) HifcTsh - HSIgY §H U1 IR & oftd Hag

Frefafea wfemsti § @ foraen Sty ofd: weige @ gfagfgar o fafa s &2
(A) N H STTemE g

(B) SAquHra ST=RYT wfedn

(C) HEFIIAA T FHearo-Higdl
(D) ST H ¥ HIE &

Frefafed § | forq fogm 3 wsiqe ol s 9fifod sd g kel o1 T Aeigqe &8 weigd
AT h TR T ¥

(A) THEL. JORT (B) &

(C) <=H (D) et filk
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27.

28.

29.

30.

31.

32.

Which among the following is not a short-term objective of trade unions ?
A) Wage increase

B) Enhancement of dearness allowance

~—"

(
(
(C) Social Security
(

D) Establishment of a Socialist Society

Which of the following is not a type of trade union ?
(A) Craft Union (B) Stable Union

(C) Company Union (D) Industrial Union

The first trade union in India was organised in :
(A) 1884 (B) 1890
(©) 1918 (D) 1920

Who among the following was not a labour leader in India ?
(A) B.P. Wadia (B) N. M. Lokhande
(C) Raja Ram Mohan Roy (D) V.V.Giri

Which of the following legislation cannot be included under the category of protective
labour legislations ?

A) Factories Act, 1948
B

~—"

(
( Minimum Wages Act, 1948
(C) Mines Act, 1952

(D) Industrial Disputes Act, 1947

The administration of the ESI Act, 1948 is done by which of the following machinery ?
A) ESI Corporation

B) Standing Committee

C) Medical Benefit Council

D) All the above

J—5506 14



27.

28.

29.

30.

31.

32.

Frefafa o 9 fF e Tei &1 STeumat S8va e €2
(A) wigd Ffs

(B) TEME ¥ H Sy

(C) HHISTeh Gt

(D) HHTSEE hi TATIAT

frefafag § 9 fFR AR T 1 T TR el el ST Fehdl ¢ 2
(A) HIR FfTaH (B) ¥& I

(C) Ul gfEA (D) sefgad A

IRd | 99 ¢ gf e ford o o Hfsd foam T o ?
(A) 1884 (B) 1890
(C) 1918 (D) 1920

Frefafaa o 9 fFd AL 991 a1 T2 a1 S Hehal 2
(A) S, arfean (B) TLWH dr@vS
(C) TSN M g 14 (D) =R

Frefafea sfufemi § 9 fog stfufm =1 Hweorees 99 faum w1 9oi § 728 @ S w2
(A) hR@EF AfufEm, 1948

(B) ITaH eIl SAfUfTaH, 1948

(C) @M afufEm, 1952

(D) it foeme eifufTem 1947

HHEN T s stfafrem, 1948 1 wemes frefafea § @ feas g foran sman 22
A)  3UHSE RN

B) wfen wfud

C) wfewra dffthe w=faa

(
(
(
(D) IH G+t
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33.

34.

35.

36.

37.

Which of the following is not a social security legislation ?
(A) Workmen’'s Compensation Act

(B) ESI Act

(C) Employee’s Pension Scheme

(D) Maternity Benefit Act

Among the following which cannot be said to be a statutory labour welfare facility
under the factories Act, 1948 ?

(A) Canteen (B) Fist Aid Box

(C) Creche (D) Housing

The provisions of ‘leave with wages” are found under :
(A) ESI Act

(B) Factories Act

(C) Workmen’s Compensation Act

(D) Maternity Benefit Act

According to the industrial disputes Act, 1947 which of the following is not a public
utility service ?

(A) Hotel and Restaurants
(B) Railways
(C) Post, Telegraph and telephone services

(D) Industry Supplying water, light and power to the public

As per the payment of wages Act, 1936 no fine shall be imposed on any employed
person who is under the age of :

(A) 14 years (B) 15 years

(C) 16 years (D) 18 years

J—5506 16



33.

34.

35.

36.

37.

Trfafea o fg amee geen st 72 a1 s Sehar ?
(A) wHHIR &fagfd stfufwm
(B) E.UH3ME. srfufam

(C) HHIR Y¥E IS
(D)

frafafea glawsti § 9 fg gfaw o1 wram faf=m 1948 o @ia yea Aifafes
(T=gel) gfaensti st Jon § =& W <1 ehell &2

(A) H=H (B) Y IUER U
©) FmTE (D) &

frefafea sifufadl & 9 fora sifufm & sfafa 907 afed Tgt 1 TEuE ©
(A) ZUgME. Afufem
(B) @ fufem

(C) wH=rg afaafd stfufram
(D) W oY srfufe

it faeme sfufram 1947 & Sfaria fFafafad § O fae! dRaan der T8 el S
Hehdl 2|

TGl SFTaM AT 1936 % STTER T8 =fdd W Rl YR 1 que & oman < Hehll &
o 39 ... q %9 Tl

(A) 14 = (B) 15ad
(C) 16 =M (D) 18 a4
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38.

39.

40.

41.

Which of the following Articles of the Indian Constitution envisages that the state shall
direct its policy, among other things, towards securing that there is equal pay for equal
work for both men and women?

(A) Article 37 (B) Article 38
(C) Article 39 (D) Article 40

As per the Payment of Bonus Act, 1965 every employee shall be entitled to be paid by
his employer, Bonus, provided he has worked in the establishment for not less than :

(A) 20 working days (B) 30 working days
(C©) 60 working days (D) 180 working days

Which of the following is not a settlement machinery under the Industrial Disputes Act
1947 ?

(A) Conciliation Officer, Board of Conciliation
(B) Labour Court

(C) Industrial Tribunal

(

D) Indian Labour Conference and Standing Labour Committee

Match the following :

Contributors Contribution
(@) Robert Owen (i)  Social Security
(b) Mahatma Gandhi (i) Employee State Insurance
(c) Beveridge (i) Welfare Movement
(d) Adarkar (iv) Trusteeship Theory
Code

(@ @) (o) (d)
(A) () @ @) (@)
(B) () (@v) (@) (i)
(©) (i) @) @ (@)
(D) (@) @) (@) ()
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38.

39.

40.

41.

TR G & T og=ee § 98 el T § fF TR 39 YR 1 Jad S {579 9 U @
o T T Tl TEul/Higens T Sl Teh FHH Heigd &1 ST Heh |

(A) 3TT=% 37 (B) 3IT=% 38

(C) 3TI=ER 39 (D) 37T 40

Y TAH STTIH 1965 % 3T Yo HHARl 379 HIfeTh & S8 U i hl THAR
BT I S S AFABAH .o el & =1 %@ T R an

(A) 20 %R feom (B) 30 & foom

(C) 60 %M feerm (D) 180 1 fea™

frefafad § @ =1 e e sifufm 1947 % faria aughar il =< €2
(A) FEdr TR, THEia s

(B) oW <A

(C) et fewpa

(D) YR 99 FHHeH qe e (Trh) g9 |fbf

frefafea =1 faem = :

AT et RIUCE
(a) T e (i) G G
(b) A et (i) HHAR T ST
() wafe (iif) FH HeATOT e
(d) 3TETHT (iv) EIf fag
g

@@ () (o) (d)
(A) @) (@) @) (i)
(B) (i) (iv) (@) (i)
© @@ @) @ ()
(D) () @) @v) @
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42. Assertion (A) : In order to appease and placate the working class and their unions,
welfare is a dope.

Reason (R) : Welfare of workers is not a profitable investment as there will be no
direct, immidiate and proportionate returns.

Codes :

(A) Both Assertion and Reason are right
(B) Assertion is wrong, Reason is Right
(C) Assertion and Reason are wrong

(D) Assertion is right and Reason is wrong

43. Who is the author of the book “Full employment in free society” which is a treatise on
social security

(A) A.C.Pigou (B) Ricardo
(C©) William Beveridge (D) None of the above

44. Sequence the following from the earliest to the latest :

(i) Gajendragadkar Commission
(ii)  First Factory Commission

(iii) Whitely Commission

(iv) Rege Committee

Codes :

A) @ @) @) 0

B ) @ @ @)

© G @) @i 0

D) i) & @ @)

45. The central theme of paternalistic theory of labour welfare is :

A) Welfare enhances workers’ efficiency

B) Employees are treated as the guardians of the industrial property
C) Workers are treated as members of the industrial family

D) Welfare is a kind of investment
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42, A& (A) :
ST (R) :

%

(A)
(B)
(C

(D)

~"

St o fore weim fopan ST €

qeehTel oy e faerar 21

STFeReA T RO SHI Tl S |
STfReM TTed 8, RO E@ B |
3Tfysher IR wRor ST T €|
3TfiyeRe WE € 3R R TTerd % |

ST HTTO] Ueh WehR o1 I8 <191 & ST HTg qelT Sk Gl ohl GRT il a9 S

I el Ueh faf =T T2 €, s 399 ToIel €9 9 Yeael, AT ae

43. ‘A TEHe 3 T R g, N A g W sy ($erEs) " T T, SHh

TEF FH 2
(A) THL U (B) fewel
(C) fafeem da (D) W= H 9 HIE of 7 |

44. fr=fafed = onfe ¥ 70 dF H9 H W :

45. 99 HeA & U faga e vE R

g HAT Y Ak i HEIHIC Sedl § |
= i e eafq 1 Sy AT S ¥ )
=@ w1 st UfEr 1 e 7M1 S € )
9 HET Teh YhR h1 fafm g

21
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46. After all other factors of production are paid, wages are paid to labour from the left-
out fund: is the theme of

(A) Subsistence theory

(B) Marginal Productivity theory
(C) Wage fund theory
(D) Residual claimant theory

47. Give the correct sequence of the following :
(i) Living Wage
(i) Minimum Wage
(iii) Fair Wage
(iv) Subsistence Wage

Codes :

(A) @Gv) (@) @) (i)
B) (v) @) @) ()
© (@) (@v) @) ()
(D) (@) (@v) @) (i)

48. Wage Boards evolve wage structure for :
(A) Single Firm (B) Different Industries
(C) One Industry (D) Nation as a whole

49. Which ILO convention is concerned with equal remuneration for equal work” ?
(A) Convention No. 98 (B) Convention No. 99

(C) Convention No. 100 (D) Convention No. 101

50. Which of the following is not a wage incentive plan ?

(A) Halsey Plan (B) Rowan Plan
(C) Barth System (D) Beveridge Plan
-00o0-

J—5506 22



46.

47.

48.

49.

50.

frefafa moigd fagr o 9 fFe fagra &1 S=9 99 78 © fF Tt Scareq & areFt &
YTAH T o 1S o= g5 T W Holgd FTaM i STt & 2

(A) e frafe fagr
(B) i Icdred fogr<
(©) Toigy = fagT
(D) TR 9Tl fagr

Frfafed 1 98 %9 d W -
@) fafemes

(i) =IAdH Ay

(i) TR A

(iv) St fafe el
g
)
B)
C

>

(
(
(©
(D)

)

Torgdl s Frefafed o 9 fha & foae aergd &= &1 oo #@r @
(A) Tha gfasE & o (B) fafym 3= = fow
(C) e 3@ & fog (D) Y * fag

3. TS, 37, I HIF HeH T wE & fow gue weigl § Hag ©72

(A) HIYH HE&AT 98 (B) HI¥H HE&AT 99

(C) w=ivd H&A 100 (D) HaIE §e& 101

frefafad § 9 ®F Aol Wicde AT & § 2

(A) ol T (B) eH W

(C) e faeen (D) AR @I
-00o0-
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Space For Rough Work
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